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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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Select the option that can replace the question mark (7) in the

Problem Figure
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A

Select the figure that does NOT belong in the following group.

B

D

C
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X2_ Defender
TEATAR

<3 Raider

eart

v 4. Bowler
Q35 fear srar gAEA =T (Problem figure) &= & 3cax =&t (Ans

T O v & fAfga 81 39 3caw =T (Answer Figure)

Problem Figure
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Answer Figures
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A B C D




T =9 - Problem Figure

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

A

Ans «1_ C
<o A

X3 B

<4 D

Q36 4
Sales of Bikes in India as per the Colourin
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20%
15%
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n B

Blue Green Golden Brown Black silver White Red Vellow

If the total number of bikes sold in 2009 was 15000, how many more red bikes were sold
than black ones?

Ass &, 3,000

x_z_ 750
vs3 2,250
<4 2,300

Q37 gfe %20a1®& eI F 32,000 &1 A AT AET & 31X & & 3aiss
HUR W uhgre fhar Jar & o 18 AT &l I fhd=A g

If T 2,000 is invested at the rate of 20% per annum, compounded half-yearly, then the
amount after 18 months will be:

Ans XI. 4 2,662
v, % 3,200
X3 Z2,628
X, 2,600
Q.38



45 fFaaer 9fa ue fir fa T giEfEer s 9T v Afger 1 s /o
FrliaT gg= A g, el 40 fFeafier 9fy ue & afy @ ggfa #@ W
3¢ 3 AT H1 SO § gId 81 39F @ g H 9w gt (Freteher ) e
e

A person driving at the speed of 45 km/h reaches office 1 minute early while she reaches 3
minutes late if driving at 40 km/hr. What is the distance (in km) that she is covering?
Ans W '1_ 30
<, 24
X 3. 32
<4 28
Q¥ A Re 7w 37 F FH & 9 WA o T FbeT F AT HX

13, 10, 7, 4, _

Select the correct option that will complete the given number series.

13, 10, 7, 4,
Ans ¥ 1
X, 4
X3 2
X, 3

Q40 A & a2 arforer A e 10, gsTeT 3 AR T dr AeaEf 3@ wAia adan
H AET A grel orEl S FEAT F FEIer g

HAHATIT ‘37 3R ‘T AT H OIET hl ol TEAT Tohdall g7




qRoTTH HANATT A | ATUTT B
arat adremsit & b 28 23
gl arer Freanfat
HI FHoT TEAT
Fegrafey odeT & 14 12
ol olfehed HT
qieT # 9rg
Rreanfifat &1 g
H@&aT
HqegTarer geT & 6 17
gy Afehe T
et # %ol
Rreanfifat 1 e
q&aT
arat odremsi & 9w 64 55
gl arel fagznfar
I ol TEAT

The below table gives the details of the number of students in Class 10, section A and B
who had taken mid-term and final exam.



What is the total number of students in both. section A and B?

Result Sec A Sec B
Total number of 28 23
students who failed in

both exams.
Total number of 14 12
students who failed in

mid-term but passed in

finals.

Total number of 6 17
students who passed in

mid-term but failed in

finals.

Total number of 64 55
students who passed in

both the exams.

Ans XL 292
<, 291
V3 219
X4 221

Q41 § & frgar e I & %mgb

How much does one need to add to % to obtain 3‘?



Ans 16
x1_ 20
125
XZ, 0.8
2
X3 o
9

T
Q42 250 =T 56% fohaar grem?

56% of 250 is:
Ans X1 112
<, 84
v'3.140
<4 56
Q43 fpdr 5 #Hier 39 wicwHH & FIW 4, fhdr aiaw

I elay 45 #Aex S o ot dax &
From the top of a platform 5 m high, the angle of eleva

tower was 45 m high, how far away from the tower was th:
453 #Hiex
<1 45/3m
153 #Hiex
&5 15y3m
40y3 #Hiex
v 3. 403 m
40 #Arex
X4, 40 m
Q¥ g sl § @ Hia 31 Fueeaies aar g2
Which of the following animal is not triploblastic?









ue % TF A (mole) #F fFaa 307 Alsg €2

How many molecules are present in one mole of water?
6.02 X 10%¢ 3707

<1 6.02 X 10%¢ molecules
7.02 X 1023 307

Ans

<5 7.02 x 1022 molecules
8.02 X 1072 3707

/3 8.02 X 1022 molecules
6.02 X 107 3107

¥4 6.02 X 10?2 molecules
Q4 fRw 71T A 3@ F HFJAR F&T H Fol

2 4

CJ —— Boys () ——=  Athletics
/\ ——e Ging [] ——= Disciplined



Boys -ais%

Athletics -f&emar

Girls -rsfasar

Disciplined -3epanfaa

According to the given Venn diagram, the total number of students in the

10

O — so O —  Aticic
A —_— Ciirl s — — Dizciplined

Q.50
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Problem Figure

Answer Figures

P\
D

Choose the correct water image of the problem figure.

Problem Figure
7

i

Answer Figures
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Figure) & ? TRt &r 918 o Tehl

Q3 37 3car-3nFfa (Answer Figure) &7 IIT &Y FAT Fe-HTHfa (Problem

Problem Figure
0 | 0 (0|0
DED | dRdiDeD|dnd ?

U

U

Answer Figures

() () A
DED |DED|DEA|CRC
U 0 U O

Select the Answer Figure that can replace the ? symbol in the Problem Figure.

Problem Figure

A
DED

U

Amd

0 | 0

DNl

U | U

D

Answer Figures

A
DED

A 0 U
DED|DEC|ARA




Ans Xl_c

K4_B
Q56 gfE secoO+tan6=2, dF secH—tanO =2

IfsecO+tan6=2,thensecO—tan 06 ="?
Ans Xl_ 1:5

<11
\/3_ 0.5
<4 0.75

Q7 9409 FT FIHA fohdaT &2

What is the square root of 9409?
Ans X 97

v, 83
<3 89
X4 87

QB8 ot & R, oA & O =1 a3 €1 10 Tl Ggar <A & far v 3y, A
HG ¥ 7 T oM A B aaA HY = 82

Tom’s father is thrice as old as Tom. 10 years ago Tom’s father’s age was 7 times his age.
What is Tom’s current age?

14 ay
v 14 years
15 a¥
X, 15 years

Ans
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Rice production { In Crore Tonnes)
Countries 2001 2002 2003 2004 2005
India 9 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8 16.9 17.8
China 7.6 8.4 7.4 7.9 8.6
Japan 21 226 23.2 22.2 22.9

Rice production (In crore tonnes)- Iael T 3caEaT (FAS. AT H)
Countries- &ar

India- AT

Bhutan- #cTel

Srilanka- #ireTeRT

China- I=1

Japan- STATA

e H FAWUH @ AW I@a & 3c9ed A FREE g8 2

Study the given data and answer the question that follows.

Rice production { In Crore Tonnes)
Countries 2001 2002 2003 2004 2005
India S 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8 16.9 17.8
China 7.6 8.4 7.4 1.9 8.6
Japan 21 22.6 232 222 23.9

In which year did Bhutan’s rice production decrease for the first time?



Ans X, 2004
X, 2005
<3 2003
V4 2001

Q71 faar Irar weT AT (Problem figure) f@T 1T 3cax ==t (Answer figures) & &
fodr v & wfeafea f&ar @ g1 ar 3cax =T (Answer figure) &ie @T 22

Problem Figure

-

Answer Figures
A B C D
The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?
Problem Figure

Anawer Fionreg



Ans X1 B
v C
X3 D
<4 A

Q72 Mgt X & ufa Sadr Y &1 &7 & IFala 3¢ &1 Ife A\ X F a5 31k

AN Y & 9fd TR oS § ar MNAdr X F AT Y F 97 J69Y g7
Ms. X’s husband is the only son of Ms. Y’s mother. If Ms. X’s brother and Ms. Y’s

husband are cousins, then Ms. X is Ms. Y's
AT
Ans
#<1 Mother
dddc / AT /ATl /AT ST
v, Sister-in-law

arelt /ATAY /T /g3 /AN AT

X3, Aunt
dgal

<4 Sister
Q73
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